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No. )l g | EAE FER BARME BEE FiRA PEEEAZ  BFT R {uE  sEske dEmms wsens BEKE BIEM| hERA %
T HEN RE ER BK - @K B E= 47.80 ~ 42.00 0.20] 41.90] 47.10] 48.60] 48.77 E-ESL
2 @z HEN R | K- RK B EE 43.00 ~ 43.20 0.20| 43.10 50.08/ 51.51] — B ERIE
3 mEN wE EFE | #K-RK B BE 44.80 ~ 45.00 0.20 44.90 55.67 56.27 — R [ZRIET
4 8N HEN R | K- RK A EE 4500 ~ 45.20 0.20| 45.10 56.54| 57.14] — B ERIE
5 #ENI wBE EE | BK- &K A EEER 4520 ~ 45.60 0.40 45.40 57.66 58.26] — R ERIET
6 I HEN R | K- RK B EXERF 45.60 ~ 46.00 0.40 45.80 58.79 59.39] -— B4 - 3:11:)
T/ #EN wBE EE | BK- &K B EXkKR 46.40 ~ 46.60 0.20 46.50 61.28 61.88 — R ERIET
8 = HEN R | K- RK A EXER 47.00 ~ 47.60 0.60 47.30 65.01 65.61] — B4 - 3:11:)
9| #ENI wBE EE | BK- &K B [EEXkKR 47.60 ~ 47.80 0.200 47.70 66.32 66.92] — R ERIET
10 #@=EI HEN R | K- RK A ERER 48.80 ~ 49.00 0.20 48.90 71.40 72.00] -— B4 - 3:11:)
11[#EN wBE EE | HK- &K B [EAER 49.40 ~ 49.60 0.20 49.50 73.98 74.58 — R ERIET
12 @z HEN R | K- RK A ERER 49.60 ~ 49.80 0.20 49.70 74.80 75.40 -— B4 - 3:11:)
13 #@E) wE BE | #K-RK B &k 43.00 ~ 43.40 0.40 43.20 50.80 51.92] -— R [ZRIET
14 #\EN wEN BE | #K - &K A ER 43.40 ~ 43.60 0.20 43.50 51.42) 52.27| -— IR | EFIET
15/ #ENI wBE BE | #K-RK A [EERE 45.20 ~ 45.60 0.40 45.40 57.66 58.26] — R ERIET
16 @) wEN BiE | #K - &K A EXAR 46.00 ~ 46.28 0.28] 46.14 59.65 60.25] — B ERIE
17/ #8ENI wBE BE | #K-RK B [EXARE 46.40 ~ 46.60 0.20 46.50 61.28 61.88 — R ERIET
18 @I wEN BiE | #K - &K B EXARF 46.80 ~ 47.00 0.20 46.90 63.09 63.69] — B ERIE
19/ #ENI wBE BE | #K-RK A [EERE 47.00 ~ 47.20 0.200 47.10 63.83 64.43 — R ERIET
20 7N wEN BE | #K - &K B ZEilARF 47.60 ~ 47.80 0.20 47.70 66.32 66.92] — R [ERIE
21 #EN wBE BE | #K-RK A [ERAER 47.80 ~ 48.79 0.99 48.30 68.78 69.38 — R ERIET
22 A7) HEN AiE | K- &K A ERARE 49.00 ~ 49.20 0.20 49.10 72.24 72.84 — R [ERIE
EEEA ki 5 &Ffr 1.60 km
hiEF 6 BAT  2.27 km
- BT km
EEZEB ki 7T &fRr 1.60 km
aiF 4 &FF 1.00 km
— &5 km
23 TN HEN = TED CEEES T 46.28 | 1] T 46.28] 60.79 61.30 62.13 TR [ ZRm XEREE TS
FEEA ki 0 &R
=3 0 &FF
— 0 &FT
EEEB kR 0 &FfF
hiEF 0 &R
— 1 BFR
20 TN AEN ER [ED0E3 EiE B 39.00 ~ 39. 60 0.60] 39.30] 39.27 40.77 41.17 A REE L)
25 #FEN wBE EE 1811 EIE B 40.00 ~ 41.40 1.40 40.70| 43.72 45.22| 45.39 R ERIET
26 #@EN #wEN EE 1811 B EIE A= 41.60 ~ 42.00 0.40 41.80 47.10 48.60 48.72 8 ERIET
27 #FEN wBE kB 1811 EIE B 42.20 ~ 43.00 0.80 42.60 49.09 50.59 51.15 R ERIET
28 A7) HEN A5 I=ME EFE|FEER 42.60 ~ 43.00 0.40 42.80 49.46 50.96 51.63 R [ERIE
EFERME E=F 4 &FFr 3.20 km
hiEF 1 &/ 0.40 km
— &R km
29 TN AEN ER | ERXME P 47,60 ~ 42.00 0.40] 41.80] 47.10 48.60 48.72 A REE L) BIRET (41.80) E&0
30 #zE wE R ERRME 5E 44.60 ~ 45.40 0.80 45.00 56.54 57.14] — IR ERIET fIRMERT (44.80, 45.20) BT
31 MEN HEN EF | ERERM EANER 49.40 ~ 49.80 0.40 49.60 74.80 75.40 -— b1 - 3:11:) IRERR (49.60) &L
32 f@FE wE AE| ERXM Ek 41.00 ~ 41.40 0.40 41.20 45.25 46.75 — IR ERIET RRER (41.200 2&%
33 fFEN wEN AFE| ERXMH Ak 41.80 ~ 42.20 0.40 42.00 47.77 49.27 49.72 IR | EFIET RER (42.000 284
34 f@FE wE AE| ERXM ER 43.20 ~ 43.60 0.40 43.40 51.42 52.27] — IR ERIET RRER (43.40) &%
35 A7 wEN AFE| ERXMH EXARF 45.00 ~ 45.40 0.40 45.20 56.71 57.31] -— R [ERIE AR (45.200 284
36 #EI HEN BF| EARXM EELHR 46.80 ~ 47.20 0.40 47.00 63.83 64.43 — R ERIET BIRER (47.00) &L
37 fEN I fAF| ESXMH EREE 48.00 ~ 48.40 0.40] 48.20 68.78 69.38 — 8 ERIET fIRMERR (48.20) &L
ERRXM kR 3 &HAT 1.60 km
hiEF 6 BAT  2.40 km
— &l km




